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1.         2x6                                                  2+6              A   B    C   D  E


2.                                           xy < 0                                 A   B    C   D  E

                 x                                                                   y                                         


                                               x>3

3.               1                                                        1           A   B    C   D  E

                x+3                                                      x-2   

                                                                                                                                                               

4.    The circumference of circle  Q  is  greater  than the circumference of circle  P

          The  radius  of  circle  Q                  The  diameter    of circle  P     

                                                                                                            A   B    C   D  E
5.    In town  X  the  population  increased from 20,000 in 1960 to 30,000 in 1980.

      In  town  X , the population under age ten in 1960 was  2,500 , and in  1980  the

     Population under age  ten was  10 percent of the population.

                The increase of the population                                                   600

         under age ten in town X from 1960

                               to  1980                                                                A   B    C   D  E           

                                                                                                                                                                         

6.                                                              a + b = 6

                    a + 2b                                                                                       2b + a

                                                                                                         A   B    C   D  E
                                                                                                                                                                         

7.   John  is  exactly  3 years  younger  than Sue , and Sue is  exactly 

                                 4 years older than  Kim                                          A   B    C   D  E
                   John’s age  now                                                Kim’s age one year from now
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                                                                    140                                        

                                                              y             y
                                                                                         (3x-4)                                       A   B    C   D  E
8.                                      X                                                     Y

                                                                                                                                                                       

9.                                                                                                    A   B    C   D  E
                                                        24x = 18y

                                         4x                                                          3y


                                                                    Y  

                                                                                -- (6,5)

                                                                                        (a,b)                                                                                

                                                                    -----x----------

                                                                         (4,3)

 A   B    C   D  E                           O                                     X 

                       a                                                                          b                                                                                  


11.                                   2                                                        3    

                                                                                                  2        

                                                                                                             A   B    C   D  E

                                                                                                                      S 

                             

                                                 S/3                                                          A   B    C   D  E   

                                           The perimeter  of the rectangle  is 16

12.           The area  of the rectangle                                             12                              
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                         The average of 10 numbers is 52 ;when one of the numbers

                               is discarded , the average of the remaining numbers becomes 53

13.       The discarded number                                          51      

                                                                                                     A   B    C   D  E   


 14                             Circles  R, S , T  are  in the same plane, have a common center,

                               and   have radii  r, s, and  r+s , respectively , where  0 <r<s

          The area of he region whose                                                     πs 2
          boundary consists of circles R and T 

                                                                                                 A   B    C   D  E


 15                                     If    n    is  an  even  integer

           The  number  of different                         The  number  of different                                     

   prime  factors of    n                                                   Prime  factors of  2 n     

                                                                                                   A   B    C   D  E         

                                                 

16   A  dresser drawer contains 15 garments. If  40% of those garments are 

      blouses , how  many  are not blouses ?  

         Garments -   not  blouses                          A =6;B=8;C=9;D=10;E=12

                                                                                                A   B    C   D  E  

                                                                                                                                                              

17 .                                      1 +1/2+1/3+11/4+1/5=

        A=32/25  B=117/60   C=52/25  D=109/50  E=137/60

                                                                                                A   B    C   D   E       

 18.         The length of a rectangular floor   is  16 feet and its  width is 12 feet.

              If each dimension were  reduced by  s  feet to  make the ratio of  length 

                    To width 3/2 , what  would be  the value  of  s

                              A= 0; B=2;  C=4;  D=6;  E=8; 

                                                                                      A   B    C   D    E         

                                                                                                                                                               

      19.                 If   Y =  2(x-1)2    and  x = 3 , then Y =

                             A=8;  B= 16; C=32; D=64; E=128  

                                                                                    A   B    C   D   E  

                                                                                                                                                             

     20 .           How  many even integers are between 17/4  and  47/2 ?

                           A=9;  B= 8; C=6; D=5; E=4

                                                                                     A   B    C   D   E         

                                                                                                                                                                   

     21.         If   K is an integer and  5k <20000 what is the greatest possible value of K ?

                        A=6;  B=7; C=8; D=9; E=10

                                                                                    A   B    C   D   E         
                                                                                                                                                                     

22 In the given figure , region PQRSTU  consists of three square regions and 

Two triangular regions .If the square regions have areas 16,36 and 16,

What is the perimeter of PQRSTU ?

                    R                                S               

        Q                                                       T

                                   36

                  16                                16

       P                                                         U  


A = 22 +4       5        


B = 28 +2       5           


A = 28 +4       5           


A = 34 +2       5           


A = 34 +4       5                                                 A   B    C   D   E       

                                                                                                                                                

23 If  X  is  a nonzero  integer , which of the  following must be a negative integer?

I. –(3x2 + 4)

II. –( - x )

III.  ( - x )3
                     ( A)    None

                    ( B)    I  only

                    ( C)    III only

                    ( D)    I and III only

                    ( E)   I, II, III                                       A   B    C   D   E         

                                                                                                                                                                     

24. What is the area of the shown quadrilateral ?

                                                         2                  

                                            

                                       2                                                        2
                                        x                                        x      

                                                        4

                                                       
                   (  A)    2       3

                  

                    ( B)   3       3

                     ( C) 6      3              

                    ( D)   6

                    ( E)   8                                              A   B    C   D   E   

                                                                                                                                                                       

25. If  the length of each of the sides of three square garden plots is increased 

by 50 %, by what percent is the sum of the areas of three plots is increased?   

            A=375 %;   B= 200 %;  C= 150 %;   D=125 %;   E= 50 % ;

                                                                          A   B    C   D   E                                     
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A. If the quantity in Column A is greater;

B.  If the quantity in Column B is  greater;

C. If the two quantities  are equal;

D.  If the relationship cannot be determined from the information given                            


26.                                             K + n  = 13        

                                               n + 3 =8    

                                           

     K                                                                          n                                                               



 27.                                                                            x

                                                                                                                   L   

                                                       y

                                                                                                                     M                        

                                              L  II M

   x + y                                                                      180  

                                                                                                       A   B    C   D   E                                     

27. Last  year Pat earned $700 per month for each of the first 7 months of the

ear and $800 per  month for each of the last 5 months of the ear.

Pat’s  average (arithmetic mean )

Monthly earnings last ear                                           $750     

                                                                                                 A   B    C   D   E                     


28. x  copies of sports magazine X cost a total of $12

       The total cost, in dollars, of  m copies                            12m

      Of fashion magazine M                                                        x

                                                                                                          A   B    C   D   E      


                                                                                           y 

29                                                                                           2a                                                                                
                                      b

                            x       
                            a                                                   2b                      

                                x                                                y

                                                                                                A   B    C   D   E          


30                         10                                        1

                                                                                  (10 )

                              1                                          2    

                           

                             2

                                                                                                A   B    C   D   E                                     


31.                                               X > 0                                                                                                                                             

              1                                                                

                                                                    1                       

                   1      

        1  +      

                   X                                                                    A   B    C   D   E    

                                                                                                                                                

32. X2  + 3 =19

                                                X < 0

                      X                                            - 4   

                                                                               A   B    C   D   E


  33 

                                                    8                10

                                                                        

            The area of the triangular                                     40

                             region         

                                                                                                 A   B    C   D   E

 

34                                              3     <     n

7          21       

                           n                                                                  7

                                                                                                 A   B    C   D   E

                                                                                                                                                                      

35

                        The  area of a circular                          The area of a square

                         region with diameter 2k                      region with side  2k

                                                                                                              A   B    C   D   E


36 .                                             n   is  a positive  integer

                                ( - 1 )n-1                                                                  0

                                                                                                      A   B    C   D   E


37. 0 < m < n                                                                   

                                           n – m                                                              n + m

                                                                                                                                   

                                                                                                                       2

                                                                                                        A   B    C   D   E

                                                                                                                                                               

38. RS is a diameter  of a circle                         

                                 The ratio of the length                                                     

                                 of diameter RS to the length                                     2                

                                  0f semicircular arc RS                                            3              

                                                                                                        A   B    C   D   E
39. If  6x – 4y =2  and  x=3, 

    then  x + y =                                                                    

                          A=4;  B=5; C=7; D=12; E=19

                                                                                                         A   B    C   D   E                       


 40.               

                                                                                                                


   30     x        y                           

                                    In the  figure above , if  x = 2y then  y =

                             A=50;  B=40; C=30; D=20; E=10

                                                                                                             A   B    C   D   E

                                                                                                                                                                  

41                          Sue drives 10 miles from home to work. If she 

                         could average 50 miles per hour, how many minutes

                        would it take her to drive from home to work?

                       A=20;  B=18; C=15; D=12; E=10

                                                                                                A   B    C   D   E


42                                                           N  

                                                       

                                                                 80        P 

                                                 M                                 40         

                                                                                             R

                                      In  the figure above, if  MP  bisects < NMP, then  x =

                                 A=80;  B=90; C=100; D=110; E=120

                                                                                                     A   B    C   D   E

43.                          If   x+2y = 2x –y, then  x =

                                               y  

                            A=-y;  B=  3    ; C=y;  D=2y; E=3y

                                                                                       A   B    C   D   E


44. In the equation  kx + y = 16  ,  K  is  a constant .

If  y = 6 when  x = 2, what is the value of  y when  x = 4 ?

                                                            11                                                                                          

                         A= - 8;  B= - 4 ; C=     4     ; D=   5  ; E=12

                                                                                        A   B    C   D   E

                                                                                                  

45. The greatest  prime factor of  162 is

                                      A=2;  B=3; C=29; D=31; E=81

                                                                                            A   B    C   D   E


46.    If the cost  of  x  gallons  of unleaded gasoline

 priced at $1.24 per gallon equals the cost of 

x + 2  gallons of regular gasoline priced at

$1.16 per gallon , then  x =
      A=29;  B=24; C=16.5; D=14.5; E=12

                                                           A   B    C   D   E      


  47                                                                                       R

                                             

                                                 Q     

                





                                                 P

In the figure above, the grid consists of unit squares

 and   P, Q and R are points  of the intersection of the

grid as shown. What is the perimeter of triangular

 region  PQR ?


      A=15;  B=17; C=20; D=5+5   2     ; E= 10  +      2
                                                     A   B    C   D   E

48.               If   a  and   b    are integers and   a – b = 6,

                       then  a + b   CANNOT  be

           A = 0 ; B – less  than  6 ;  C – greater  than 6 ;

           D – an even integer; E – an odd integer 

                                                                                          A   B    C   D   E


49. In a certain class , if there are  35 men and 63 woman

 then the ratio of  men to  women  is :

      A=7/20;  B=3/7; C=5/9; D=5/7; E=7/9

                                                                  A   B    C   D   E


  50 .                                         -3   <   n  < 1                                                                                                     

                                If     n – 8/3   equal to a negative  integer  ,  

                              n                                                    - 0.5          

                                                                                                  A   B    C   D   E









